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QUESTION 1

In the WebUI, which method will determine if a Cluster target host is available? 

A. Click Statistics > Cluster Groups 

B. Click Dashboard > Cluster group name 

C. Click Services > Cluster Groups 

D. Click Log > Audit 

Correct Answer: B 

 

QUESTION 2

Which three statements about Label Switched Paths (LSPs) are true? 

A. LSPs are bidirectional 

B. LSPs are unidirectional 

C. LSPs can be signaled by CAC. 

D. LSPs can be configured explicity 

E. LSPs can be configured dynamically 

Correct Answer: BCD 

 

QUESTION 3

What are two valid Cluster load balancing methods? (Choose two.) 

A. fewest outstanding requests 

B. urlhash 

C. least connections 

D. backup chaining 

Correct Answer: AB 

 

QUESTION 4

When configuring SMTP Health Check parameters for SLB, which two statements are true? (Choose two.) 

A. This parameter requires no configuration, it is enabled by default. 
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B. SMTP health checking does not work with SMTPS, it only works with plain text SMTP servers. 

C. SMTP health checking works with any SMTP application. 

D. The DX appliance establishes a TCP connection for handshaking with the server. 

Correct Answer: BD 

 

QUESTION 5

Which DX services does Unified Failover support? 

A. SLB, SSL, Active, and DX Server 

B. SLB, GSLB, Active, and DX Server 

C. SLB, GSLB, Active, and 3G Cache 

D. SLB, Active, and SSL 

Correct Answer: B 

 

QUESTION 6

A router receives a packet from a neighbor with an MPLS shim header value of 0.What does the router do with this
packet? 

A. It performs a label pop operation and an IP lookup. 

B. It performs a label swap operation and an IP lookup. 

C. It sends an error message toward the egress router. 

D. It sends an error message toward the ingress router. 

Correct Answer: A 

 

QUESTION 7

You have a Level 1only router (Router A) in ISIS area 49.0001. How does Router Alearn how to reach prefixes in other
areas? 

A. Router A must have a Level 2 adjancy with the Level 1/Level 2 router in area49.0001. 

B. The Level 1/Level 2 router in area 49.0001 sets the "attached" bit in the Level 2 LSPit floods into area49.0001. 

C. The Level 1/Level 2 router in area 49.0001 sets the "attached" bit in the Level 1 linkstate PDU (LSP) itfloods into area
49.0001. 

D. The Level 1/Level 2 router in area 49.0001ADVERTISES THESE PREFIXES INTOAREA 49.0001USING A level 2
LSP it floods into area. 
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Correct Answer: C 

 

QUESTION 8

An enterprise has an existing LDAP server they wish to secure with SSL. What information is required to implement this
with a Juniper DX Forwarder? 

A. SSL Certificate, SSL Key, Listen VIP, Listen Port, Target Host IP, Target Host Port,ActiveN Group IP 

B. SSL Certificate, SSL Key, Listen VIP, Listen Port, Target Host IP, Target Host Port,ActiveN Group IP,ActiveN Blade,
Failover VMAC ID 

C. SSL Certificate, SSL Key, Listen VIP, Listen Port, Target Host IP, Target Host Port 

D. SSL Certificate, SSL Key, Listen VIP, Listen Port, Target Host IP, Target Host Port,ActiveN Group IP,ActiveN Blade 

Correct Answer: C 

 

QUESTION 9

In which two situations should you run the command sync group? (Choose two.) 

A. when you enable Unified Failover 

B. when you require synchronization of the 3G Cache objects 

C. when you create an ActiveN group 

D. when you synchronize the sticky table 

Correct Answer: AC 

 

QUESTION 10

Hotcerts .com\\'s application requires 30 virtual paths on a four port OC3 card. Which command allows this
functionality? 

A. atm vp 30 

B. atm vcpervp 30 

C. atm vcpervp 32768 

D. atm vppervc 32768 

Correct Answer: C 

 

QUESTION 11
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You must provide SSL for SMTP and POP3. How many VIPs are required to provide these services? 

A. 4 

B. 2 

C. 1 

D. 3 

Correct Answer: B 

 

QUESTION 12

An enterprise has a web application running both HTTP and HTTPS. How many Clusters must be created? 

A. 4 

B. 2 

C. 3 

D. 1 

Correct Answer: B 

 

QUESTION 13

Which load balancing algorithms are supported by the Juniper DX SLB? 

A. RoundRobin, Weighted RoundRobin, URL Hash, Backup Chaining, Least Connections 

B. RoundRobin, Weighted RoundRobin, Fewest Outstanding Requests, Backup Chaining 

C. RoundRobin, Weighted RoundRobin, Fewest Outstanding Requests, URL Hash 

D. RoundRobin, Weighted RoundRobin, Least Connections, Backup Chaining, Max Connections 

Correct Answer: D 

 

QUESTION 14

Which two benefits does the Juniper DX provide? (Choose two.) 

A. It offloads TCP connections from servers. 

B. It spools email messages. 

C. It offloads SSL from servers. 

D. It compresses images. 
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Correct Answer: AC 

 

QUESTION 15

Which two types of nodes are included in an MPLS explicit route? 

A. peer 

B. strict 

C. loose 

D. system 

Correct Answer: BC 
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